CLASS-12 JEE - MATHS

MULTIPLE ANGLES IN TERMS OF SIN~1 (X) AND cos~1 (x)

1
2sin"lx = —m—sin"!(2xy/1—x2),-1<x < 7

1
=sin71(2xy/1—x%), - —=<x<—
\/’ v
=T — sin 1(2x\/1—x2)—<xg
2cos™tx =2m—cos !(2x?-1),-1<x<0

=cos7!(2x?-1),0<x<1
1
3cos™tx =2m+cosTi(4x® —3x),-1<x< —3
1 1
=21 — cos ™} (4x3 — 3x), ) <x< 3

1
= cos™1(4x3 — 3x),§ <x<1

We also have inverse trigonometric counterpart to the 'universal substitution' formulae :

X
),x < —1

2tan”'x = —m—sin~?!
(1 + x2

- 2x l<x<l
=sin"'!——,-1<x<
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=m—sin!——,x>1
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2tan"lx = —cos‘1+—, —00<x<0
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